PART - A
Fill in the hlanks
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’ . s a blank spac
Directions : Each of the fr;g’;'””_m#r senfences tn this seciton ha

3 el
’ i 3 ”lh. WL ISArEs
wards given after the senfenes. Select the word or group of won

and four words or group 0f

o mpsl appropriete Tor i,

aelay
. e rdingiy.
blank space and indicate yair response on the Answer Sheet aeeordiny

1. The Election Commission  on Saturday | 3.
= — that the Assombly elections in
five States will be held from November 12 to

December 7,

{al  pronounced
(bl announced
(e} promulgated

4.
(d)  issued

L The victims were fruit vendors and they ware
Boing in an auto when they — an | ¢

accident on the way.
(al  mot with
th)  ran into

(el experienced

(d}  heard

M-U-TAG (2-C)

L “ .-\.iq_lll
Seores of villagers are

onstruction of a pew
et the con&trid

vyl against

protesl

underpass.

{g) performing

(h)  aitting

(g) staging

(d) standing

It is common for patients to stop _
medicine as soon as they start feeling better
(a) eating

(b} gulping

el swallowing

(d)  taking

A four-year-old girl got a new lease of life

after doctors gt q hospital f

tancerous tumour from one of her kidnevs,
lal  rejuvenated
b}  removed

el displaced

(d)  replaced




“Hii'l‘inl{' of words In 56 sapiones

Directions : Each of the fallowing
W Eteren i fhia section consisl of a senilenee, ik pearts eif wwbieh N fnedin

jurmbled, These aria k ] 4
(il ween labelled P G. & and 8. thven below sach senisnee are foir sequinons

i

rarriely (e, (8), fel) and fd -
i vl (el) "

You ars Fegridred to pe-arrange the fumbled pert of the serternce el ek your

response aecordingly

. clogely m
¥ monitor _Ifln._.,||.|.__1.|_|,,|. by the distorbing allegations
: L&)
o '":_Ih-r'_ljll' COnoermie and will continue to
R .

al R Q) g P

) 8 P Q R

e} 8 P R 0Q

(dy P R 8 Q
7 relieve nousen, pain and ptress aromatherapy may also help

P 4]

using lavender oil on their skin  but patients ore cautioned againat

R 8

M) R @ P 8
(hy 8 (4] P 1]
(i) Q) P B R

id) R P 5 &

(3=-C)
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B. without any mandste of law

thie ;..l"i'-ji_"d

P b4

F

al I
P

o _r_:,.i_ll'.ll'.-

online is Jll‘-‘#"i-’ir! ubmitted that the sale of drugs ==
R 1= T
3 k L2 P
b i = R o
r ) R = P
d P R §5 gq
9. hu_nx:'rrifl-lLrir:mr‘hjr: have eo-existed  dating back to the invention of
' ve co-ex o L it 35
the potter's whesl in ancient ."-T--w::n;::; at the physical level for millennia

R
st R 8 P g
b Q L P R
(e @ R P 5

D T Ra™E

10. asell-off as US Treasury yields surged 1 multi-yes

IJ
4]
on robust economic data global markets also wiss

R 8

di 5§ P A R
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Comprehension

irections : &
D nE :In this section You have a short pass

the passage. First read ), age. After the passage, you will find same items based on

poessage and then ansio [
. BT 2 5 d
swer the items based on it. You are r'i:q“:l:"l‘ﬂ' to select You

ansiwers based an the o .
conferits of the possege and apinion of the author only

Studies serve §
z e for de . T
lelight, for ornament, and for ability, Their chief use for delight, is in privateness

for ornament. ig in discourse:
For expert men can e

the plots

and retiring,
and for ability, is in the judgment, and disposition of business.
Xernte ang i 1

cute, and perhaps judge of particulars, one by one; but the general counsels, and

and marshalling o
alling of affairs, come best from those that are learned. To spend too much time in

studies is sloth; to use the
» I use them too much for ornament. is affectation; to make judgment whally by their rules,

i8 the humor of a scholar. They perfect nature, and are perfecied by experience: for natural abilities are
like natural plants, that need pruning, by study; and studies themselves do give forth directions too much
at large, except they be bounded in by experience. Crafty men condemn studies, simple men admire them,
and wise men use them; for they teach not their own use; but that is a wisdom without them, and above

them, won h}' obsorvation, Read not to contradict and confute; nor to believe and take for E:n‘mtr.".‘l1 nor to

find talk and discourse; but to weigh and consider,

11. According to the author, why should one | 18. According to the author, how can the studies
study 7 be perfected 7

{al To gather information about the waorld {a) By reflection

{b)] By application

{b) To pass the time in a creative way

[e) By eonversation
{e) For pleasure, enhanced capability and id] By experience
holistic growth
: 14. Which kind of human beings denounce
{d) Tobecome only worldly wise studies ¥

(g} Innocent

(b} Cunning
Why does the author not recommend too much (© Stupid

of studies ? dr  Wise

: i pets idleness
{a) Because it refl 15. According to the author, one shoold read to

(b) Because it requires Lo much money {a) only argue
(¢) Because it is dangerous for the health of (b only belisve
C
the mind (gl evaluate and understand

: m erafty (d) preach and believe
id) Becauseil makes men ¢

(6=C)
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Directions : Each item in this section consists of o sentence with an underlined word followed by four

options, Select the option that is opposite in meaning fo the underlined word and miark Your response iy

Antonyms

your Answer Sheet accordingly.

16.

17

18,

18,

20,

BEM-U-TAG [6-

His converzations are always absurd.
(a) fareical -
(h) foolish

Lel preposterous

(d) rational

The politician was a dissident
la} ngitator

(b  rebe]

iel  conformist

td)  revolutionary

He wrote an incisive article on corruption in

politics.

{n) wvague

(b} penetrating
lel trenchant

id precise

Rakesh is an eccentric prodigal
()l  extravagant

(bl ]:I'l'rﬁi!..','.-[-.‘

{c) wasteful

(d) thrilty

Friendship is always reciprocal
(a) mutunl

(b) one-sided

-hnrmi

idl  corresponding

21.

22.

24.

25.

The debate was highly Frimulntini;_
(m) Erovsing

(b} invigorating

(¢l  horing

(d} stirring

Malaria is & widespread disease
(a}  endemic

(b} pervasive

fe} common

(dl rare

The bill received & vehement resistano

the opposition party in the Parliament.

{al animated

(b)  npathetic
e lervent

dl  vigorous

(& stubborn
(h)  dogged
(nl amennble
id)  rmd

Mahatma Gandhi

was one of th
prominent lenders

of his times

a) renowned

(h)  distinguishable
Eminent

(d)  unknown

as been obatinate sinee his childhood

from

st

Dir
opti
Yol

26.

27.

28.

29.

BE



T N thern

[Hreclions : rile )
oplinna Select the opfion that is

wvour Answer Sheet o cordingly

6.

He is always anxiony

Synonyms

al.
‘i wiorried
ib) dispnssionat
cl sluggish
id} torpid
97. The poems of Kabir are ecstatic in nature. %5
{a) efficacious
(b eerie
e} rapturous
id reverential
98, Ravi loves seclusion. Therefore, he lives in the 33
mountaing
{a) nature
(b} scripture
(g} seafaring
d) solitariness
Hitler was a despot. 34.
(@) conservative
(b) dictator
(c) passionate
idl monstrous &
. The imagery used in the poem is vivid.
(a) lively
ih) inert
(g}  ebulhent
: |
i) caustic
(7-C)

M-U-TAG

weolion consists of o sentence with an underlined word fotlowed by four
nearest in meaning to the underfined word and mark your reaponse in

A human being is always valnerable to othir

human |I1-I!||.::=

(& resilient

bl elastic

el defenceless

{d) orude

Hiz language is political and vitriolic.
a) imaginative

(bl sprightly

¢l wivacious

(d) abusive

The
declared that he is broke and there is a need
to seek support from the government

Managing Director of the company

a) bankrupt

{h) mich

(¢} meking profil

idy haeving linhilities

He loves doing nasty things.
() nice

(b} fastihous

{c) fioul

(dy finicky

He could not muster courage to speak the
truth hefore his friend.

{a)  injure
(b} spail
Le) gathu:r

(d) maim




Spotting Errors

Directions : Bach ifem i ibe deticn b
Mol eaet

ini the Ansioer Sheet againat the corresn

showla be fndic tfeet am fof
a6, He hmd irrived ot Cujen Fiw wonith i
a7 Must of u wiho nre older o EatLi e ey

1

B2 i serious threat 1o . ndem;

440, Turbadity urrent 18 o fast-moving cur

irrying sand and mud into thy thimeg

41. Every one of the bovs love to rHd "

nor blamg SEeIm o affect his

42, Neithor o s
an b f

i il

43. Many a man has succumbed (o Lhi
] 1]

a4, A Lime slot of iftesn minuies wre allowed |

48.  He nsked whether sithor of Ihf- brothers wore

W

ia-C)




Idioms and Phrases

Yirections : Given bojla
ML e

it FEELTL R (erd, ih
’ Lo led ar {el) wh i
LLCAE 1

5. Be over the kil
| 49,
F: d i/ . 5
1) I'o he on & mountain tap |
{hi T el )
0 travel in the jungle |
= ) 4 | |
{e) I'o be too old to do things
|
id} To do s )
» something in the most E’-Jﬂ‘-[.llﬁ:h:!
way |
47. Bite your tongue ||
(a) To stop yourself from saying something |
because it would be hetter not to ||
(b) 'To bite off your tengue while pating |
e} To feel sorry |
{d) To ask someone something that you |
want |
| a0.
Turn a blind eye |
{a) To run away ||
(b) ‘To begin 0 behave in a more POSIVE |
mAanner
(¢} 'Tochange? situation
: ipur that you
@ To choose to ignore behavi |

know i8 Wrong I

(9-C)

TAG

BOImE | |
e icioms/f phrases followed by four alternatio
! uiernalive meantngs (o each. Choost

s Phe mast apr
Rl ".'].l'].ll"'rj",l;".'“,".: EXQTESaIL

Yellow journalism

(a FPaid storvielling

b) Government reports published on
yellow coloured papers

(¢} Writings in newspapers thal try to
influence people’s opinion by using

strong language and false information

(d) Journalism which agrees completely
with the policies of the governments and

capitalists

To be in seventh heaven

{a) To fly in the air

b1 To be extremely happy
¢y Tobe completely alone
(d) o visit a place which is in the list of the

geven wonders of the world




PART - B

] '..'al1|'| sl to ,|_||,|||||'|,|_

wives hv

in} higher spoed |
(b higher |"r|-||-|1i-|'|| v |
(el longes wavelength

(d) |

| igher
oth higher speed and frequency |

A rigid body of mass 2 kg is dropped from |
stationary balloon kept at a height of 50 :;'I..
from the ground. The speed of llu.- body when
it just touches the ground and the 1.r|tulluner}:\' |
when it is dropped from the balloon u!‘-{-|

respectively

{acceleration due to gravity = 9-8 m/s?) E6.
fa) 980 m.s~! and 980 J |
(b} w."‘éﬁl m.s! and 980 J |
(c) 980 m.s ! and Jag0 J
(d) 980 m.s! and 980 J |
a7
The temperature of a place on one sunny day
is 113 in Fahrenheit scale. The Kelvin scale
reading of this temperature will be
{a) 818K
by 45K
(c) 628K 58,
(d) 335BK
Radiations coming from the Sun are muostly in
the form of
(a) light only. 590.
(b) light and long wavelength infrared.
‘&) light and short wavelength infrared.
(d) hoth short and long wavelength
infrared.
{(11-C)

=M-U-TAG
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Which of the fallowing nre the charncteristics
of electrompngnetic waves 7
I Thev are elnstic waves

9 -
= Ihoey ean also move in ypouum

d They have electric and magneth
components  which  are  mul unlly
1:n-r|u-m|:|.11|lur

4 They move with n speed egual to 3 Inkh

meters per second
Salect the correct answer using the code given

blow ;
in 1,2, 3 and 4

ihl 1,2 and4 only
(e} 2and3only
idi 3 and4only

Which one of the following is a non-metallic

mineral 7

al Iron
i) Mica
(c) Copper

(dl Bauxite

Which one of the following is & Habi crop in
the Northern States of India 7

fa) Rice
(h) Bajra
ic) Barley
(d1 Ragi

The rivers of North-West Europe are good
examples of
parallel pattern of drainage.

(a)

(hy  radial pattern of drainage.
¢} barbed pattern of drainage.
(d) trellis pattern of drainage

Which one of the following ocean gurrents is a

cold current 7
@auth Atlantic Drift

Laj

(h) Mozambique Current

(¢) East Australian Current
(d) Caribbean Current




Whch samope the fllowire
by ) I_-1_-_1_"|".-'\"; T T ey e ==

T i R e

imvelved the induetris] workine clae 7

2 Champaran
b Rheda
¢ Abmedabad
d Bardok
B5.
Consider the Wllowing siat=mens= relstad @
the Vira=haiva oadition m harnsia ks
1 The Virashaive movement was &d 07 =
Brahmsns pamed  Bassysnns B

munister I
ruler in the tweliih centuTs

2 The Virashaivas encouragfec Prsciess
F Dhanmachs=Tres, [1€F

pproved by the
a - - - —— TR
marTEapes ERO FEREEERS

post-puberty
of widows

Which of the statement’s Eves shove 1&TE
correct

la) 1o=aly

B 2enly

(¢} Bothland2

idi Neither 1 nor 2

L-TAG

Rn - -  R—
i Weriher 1 mor 2
- I T
“nzider the followmy Satemenis ooDOeTINE
he Hosssn devoinlann

The Balshevikis bebeved that in =2
i W
renressive sooety like Tsanst dnsma,
. - be dismnlined and
] - e £ L3
3 Bl el
T Menehemks beheverd LD U0E DTS
k A oy £ z n {rerMmEDY
h 1 D= Ll =l B
or v mfare
it TELE DVEDL Bk S -
51 i SINUESOT ipeD KA T
Both 1 =nd =




. Waler | v basid

10 il & ool of restitance |66 Fwo hodies of s M each are placed B
ponnomied Lo domestic supply. The ris i | distanes apart. In another system, two hodi
i pe b i re af + ip -_. e “ .

if iy il depond an { ma M onch are placed dist patr
Supply voltag
e L If F b the grovitational forcs betwesn LI
i 1t thu
2 Lurrent passing throueh the coi wid b i £ hyi firel LB T 1§
i tmtinnal fores b S il i Tl im Ehi
| lime for which val Th il b seond bnetn il g
Wwlect the correct Ty umets tha ' 16
il Lo el
i 1}
i & hna 4 i1
i | and 2 onl | o el Lhies
1 anl
Til Lighit ¥ i it i Hut 1 K
1 a nn & onld
| il fibe T Lv] i
w7 \ |-'|'|I lum elock lilus [ wighit whiere i pealh i
the gravitationn wronleration ha b i ik i b ry
e @ Another pendolun sol i T P
length but of double the ma [ thia ok | ight ra riv il - ¥ ik rv i
ifted iniother hefght  whors thie | RPN c :
grovitational acesleration s @2 The time
perisd of the sscond pendulom would be K RTINS S5, Tapsee Srrscn
! toinl JI— |
rn ol period T of the first pendulum | T & mi ] AL i nis
IF AB O ray moves L K L
|
1
71 A hiel i il L Tk iy A 1
. Wi b thode ra nod T
5 1 PPV e £ :
i Cathode ray partu i i

BE. The loudness of sound depends upon the vl move townrds cathod

i alocity of sound waves in the me dium . 1 the ak e 3 i i BT
feld 1Ll 1 i
] umplituils al the sound waves
N
freaueney of the saund wavs
| d alevision micture tubes a is
i (respusie anitd welocity of Lthi i pulls

WHYE

'|' ('l
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5. Which one of the

eonstituent of biogas 7

a Carbon dioxide
b N itrous oxide
£ Methane

d Oxygen

BEM-U-TAG
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A car starts 0 B

Irom B Nl ey #oes 60 km in g
I

gtrmght  line (| ar
owards  south Immedinte]y
turng around and |

relurng (o B T
; songalury, The

this roung trip iz 2 hours, The

timier taken {or

magnitude of tha &
.I.Ll-r'||_g1. "'"'IIH'H -
¥ of the ear

for this round trip

(il 15 0

(bl is 50 km/hr,

(e} 15 25 km/hr

{d] cannot he

acceleration

“The sum of emfs and potential differences

pround a  cloged loop equals: zern” jz a

oonsequence of

(ad  Ohm's law.

(b} Conservation of charge.

(e)  Conservation of momentum,
(d)  Conservation of energy.

A student measures certain lengths using a

meter scale having least count equal to 1 mm.

Which one of the fallowing measurements is

more precise |

(a) 50 mm
(hy 29:07 em
(e} 0925 m
{d) 910 mm

B3.

calculated without knowing | 84.

If the work done on the system or by the

system. 18 zero, which one of {he following

statements " for n gne kept al & eertain

temperature is correct ?

{nl  Change in internal energy of the system
ig equal to flow of heat in or out of the

s8ystem

(bl Change in internal energy of the system
15 lesa than hest transferred.

(e} Change in internal energy of the system
is more than the heat flow

(dl  Cannot be determined

Consider the following part of an electric
arewit ;

2 ghm
,/_ MW,
b
4 phm .\
—e {'\ . NV .
'\ B ohm P
AN
The total electrical resistance in the given part
of the electric eireuit is

1 chm
Y'L"i'h'cr —

15

(a) — ohm 1+
H !
LG T

(b) — ohm F
;

(¢l 15 ohm
7

(d) — ohm
o

Wwhich omne of the following statements

regarding lenses is nof correct ?

(a) A convex lens produces both real and
virtual images,

(bl A concave lens produces both real and
virtual images,

(e¢)] A convex lens can produce images equal,
greater and smaller than the size of the
ahject

{(d) A eoneave lens always produces imnges

smaller than the size of the objeet;




T"—. i

inl
ihi
i)

{di

Nlowing does not
Vi i .
iciun ATy
| T W bisg
Lamestopis
L hinlk

Muirtili

Boaps clean surfaces on the principls

Flontation
Elasticity

Surface tension

mixture 7
i !
tn) Tin:
(hi Ben water

ic)

(dl

o’
(i)
(h)

L&)

e

qu-mﬁ

>

Soil
Alr

lee present in jce-cream
Solid water at Antarctica
2alid state of carbon dioxide

Salid water of ionosphere

P fEre=

based or

Which one of the following substances is not o

Which one of the following is termed as ‘Dry

93.

84.

95.

c)

. (Rl 1 1. Winter fron  dilute to n
ity ITET lu I Lhrough elisclivels
1 T ' e b lase)
InfTusior
} [ Mispeeermion
I.|I iTi
] \bsorption
Blowed i tvpe of

| Muscular tissue

d Connective tissue

Mitochondria are able to produce their own

A LICIE1S

] Proteins

( Chloroplasts

dl Dipgestive engymes

Which one of the following statemenis is
correct !

i) Evlem consists of tracheids, wvessels

xvlem parenchyma and xylem fibres

] Flexihility in plants {5 due to

sclerenchyma
cl Parenchyma have no intercellular
Spaces
d Xvlem consists of sieve plate, sieve tube
and companion cells

Who among the following popularized the use

of embryological characters in taxonomy °
{a) Carl Linnasus

(bl *anchanan Maheshwari

{¢)  Birbal Sahni

(d} Bentham and Hooker




T_”IHI'IFPIH'I'I' CONRINELA ”!

M3, £,
in) upper and lowoy mantl

]

il erust and carp

3

] (e} erust and uppermost solid mant|e
(di mantle and core.

. HT— 'l'lh‘ [brilll'lrj+hl Componentis) of
Nehru-Mnhalanohisg strategy of economic
development was/were
1. Restruct |.I|'in|¢ ectonomic dependency ap

metropolitan capitalism into
independent eéconormic development,
2.  Transition from semi-feudal agriculture
to capitalist farming. '
Select the correct answer using the codo given
below :
(a) 1only 100
tb) 2only
(¢} Both1and?2
idi Neither 1 nor 2
88. The provisions of the Fifth Schedule of the
Constitution of India shall not apply to the
administration and contral of the Scheduled
Areas and Scheduled Tribes in
it Chhattisgarh, Jharkhand and Odisha
2. Assam and Tripura
3. Meghalaya and Mizoram
Select the correct answer using the code given | 101,
below :
(a) 1only
(b} 1 and2 only
(e} 2and 3 only
dd 1,2and3
TAG (23-C)

Consider the following statements rolated to

Duyannnd's idea of social reform

1 Dayanand's reform envisaged a socinl
order, where different castes performed
functions suitable to  their status
determined by merit

2. Dayanand'’s ‘robust Vedic counterpart’

challenged the masculine West that had
enslaved the Arvavarta.
Which of the statement/s given above is/are
correct ?

(a 1 anly

(bl 2 only

(c) Bothland?2
(d} Neither 1 nor 2

Consider the following statements COMCErning
the American War of Independence :

b The Americans raised the slogan, ‘No
taxation without representation’

2. The American merchants resorted to the
boyeott of the British products.

Select the correct answer using the code given
balow :

(2] 1only

(b} 2only

(¢} Both1and?2
(d) Neither 1 nor 2

The first UDAY (Utkrisht Double Decker
Air-Conditioned Yatri) Express train runs
between

(a}  Delhi and Kalka

(b} Bengaluru and Coimbatore

(¢} Chennai and Visakhapatnam

{d) Chennai and Bengaluru




10 Who -”_I'“II”: the h'“'“""'l: ware selocted for the
Rajiv Gandhi Khel Ratnn Awnrd 2010 7

(a Vijay Kumar and Yogeshwar Duti
(b) Sakshi Malik and Jitu Rai
Virat Kohli and Mirahai Chany

Bajrang Punin and Deepa Malik

108. Betel leaf of which one of the following States
has been accorded a Gl tag recently ?

i}
in) Andhra Pradesh
(b Madhya Pradesh
(¢] Kerala
(d) Mizoram
L
T2 L .
. 104, SAMARTH is a flagship skill development
scheme of which one of the following
’ Ministries ?

fa) Ministry of Textiles

(h) Ministry of Agriculture and Farmers
Welfare

(e}  Ministry of Skill Development and
Entrepreneurship
_ lﬂnim'jr of Human Resource

COHRAS is a separate Commando Unit of

fal National Security Guard

(b}  Central Industrial Security Force
(e) Railway Protection Force

id) Central Reserve Police Force

-LU-TAG

104,

107.

108,

109.

110,

(25-C)

Which one of the following stutements is rof

true about Ijarah system ?

{a) It was o system of revenue farming

(hy It encouraged the role of middlemen

i¢} Under this system, land revenue was
fixed for the peasant,

(d)  The ijaradar paid a fixed amount to the
State treasury.

During the Swadesghi movement, a National

College waz started in Caleutta under the
principalship of

{a! Rabindranath Tagore

thl  Aurobindo Grhosh

(e} Rajani Kant Sen

idl  Syed Abu Mohammad

The ruins of Vijayanagara (Hampi) were

brought to public light in the year 1800 by the
following British surveyor and engineer :

(al James Prinsep
(b} Colin Mackenzie
[e) James Rennell
idl  Charles Metcalfe

Which country amomg the following was not a
part of the Third Coalition against Napoleon 7

(a) Russia
(b} Prussia
(c] Sweden
(d) France

Which one of the following pairs of travellers

and their nationality is not correctly
matched

{a) Ibn Battuta — Moroccan

(b} Duarte Barbosa — Portuguese

(e} Jean Baptiste Tavernier — Dutch

(d}  Niceolao Manueei — Venetian




111. World Humanitarign ]

26" June

112

113,

a2y 1= celebratad on

laj)

(b) 17 July

(e)  19™ Augus

{(di 27th September

i . g s L
Which one of the following is the name Biven
to the lander of Chandrayaan.2

(m) Vigyvan

(b) Anusandhanp
ie) Pragyvan

id) Vikram

Along with Pranab Mukherjee, how MmAany

more persons were conferred the

Ratna Award in the year 20189 7

Bharat

(al Omne
(b} Two
le)  Three
(dl  Four

of the following films was adjudged
Feature Film in the 66" National
. ?

Hellaro

116. A thin disc and a thin ring, both have mass M

117,

(27T -C)

and radivg R. Both rotate about axes r_]:rr_lLJHII
their center of mass and are perpendicular to
their surfaces at the same angular velocity.

Which of the following is true 7

(a)  The ring has higher kinetic energy

bi  The dise has higher kinetic ENETEY

e} The ring and the dise have the same
kinetic energy

(d)  Kinetie energies of both the bodies are

ZOTD SiNce Lih-:,.' are not in linear motion

Let there be an abject having some chemicals
in it. It starts moving with & uniform veloeity
v and n chemical reaction starts happening. In
this case, which of the following statement/s

isfare correct 7

i Chemical reactions happening in the
syatem cannot change the velocity v of

the eenter of mass of the object,

Chemical reactions happening in the
system cannot change kinetic energy of
the particles inside with respeet to the

center of mass of object.

Select the correct answer using the code given
bolow :

(n) 1only

(b} 2 only

fe) Both1and2
{d) Neither 1 nor 2




11K In which of the fullow NE phenomena do he
WV travel along troight lin with tha |
e il ol lighi I
i I'”'r“"'i "|'-|--il-ll:.-'h
ih ermal ¢ HIveCLion
e Thermal radintion
id Both, thermal condu tion and radiation

one  of

118, Which the

regarding Ohm's law is not « orrect 7

1l'||l.l'.-'|'|:|;_:

in Ohm's law an assumption that

current through a conductor is always

directly proportional to the potentiol

difference applied to it

(bl A conducting device obevs Ohm's low

when the resistance of a device is
independent of magnitude and polurity

of applied potential difference.

te) A conducting material obeyas Ohm's law
when the resistance
independent of the

direction of npplied electric field

af materinl is

magnitude and

id) All homogeneous materinls obey Ohm's
law irrespective of whether the feld is

within range or strong.

hen a hall bounces off the ground, which of

statemeonts |

i
RE1131.

122,

123.

Which one of the following eompounds dos

mod exhibt m difforent oxidation numibser of Uhi

pame element

nl ]'Iu:li_

Which one of the following statements about

iz not corroct 7

;_ul*-

{n) Glass i=s often said to be n supercooled

liguid.
ib)  Gluss has no definite melting point
{e) Soda glass is harder than pyrex gloss,
id) Boron is present in pyrex gluhh.
Which one of the following statements is

correct 7

(n}  Bath boiling and evaporation are surface
phenomena,

(bl Boiling is a surface phenomenon, but
evaporation is a bulk phenomenon.

(e} Both beiling and evaporation are bulk
phenomena.

(d) Boiling is a bulk phenomenon, but

evaporation is a surface phenomenon



124. Which one of the

lollowing atatements aboul

dimmond nn |."|j|13.|“||. i85 ragf eorreot

(ad  Diamond hpy

i tetrahedrnd atruokure,
graphite

planar structure,

W Jl-'!'n*ue—.

has p hexagonal

(b  Both Physical and chemienl propertisg of
diamond and Braphite are different
y b -
el Graphite ig gon but diamond is harg
(di Graphite ia & good  conductor of |
electricity while diamond is not,
r: 1289,
9186, The raw materials used for the manufacture of
i Portland cement ara

(a}  Lime, silica and sulphur dioxide
(b} Lime, silica and o rbon dioxido
(e} Lime, silica and aluming

id} Lime, silica and boric geid

er has a high boiling point.
or has n high heat of fusion.
er is a non-polar molecule.

f 'soft soap’ contains

130,

|
128, If an ohject moves al

(d

A non-zZerns conatant
acceleration for & certain interval of time, then

the distance it covers in that time

(a)  depends on its initial velocity

(by is independent of its initial velooity
ey ineregses linearly with time
(d}  depends om its initial displacement.

A solid dise and a solid sphere have the same
mass and same radius. Which one has the
higher moment of inertin about its centre of

miass ¥

ta}  The disc

th)  The sphere

(c)  Both have the same momant of inertia

(d}  The information provided is not
sufficient to answer the question

Two substances of densities Py and p, are

mixed in equal volume and their relative
density is 4. When they are mixed in equal
masses, relative density is 3. The values of i

1
and p,; respectively are

(g} B, 2
(Y 8.5
e} 124
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13, Which one of the feallorwing sedimentary reocks
s prggarienlly formed 7

Hhinli

Chierrt

Halita

Chalk

(a) 139,

(hj
(e}
{d)

M. According 1o the Koppen  climatic
clunsification, the letter code Cfa denotes
Tropieal wet elimats,

Humid subtropical climate

Tundra climate.

Tropieal wet and dry climate.

(3B-C}
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= .
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indian ey
Which ameng the e ng slalementa s nof

eorrect § i the Reign of Terror ?

[ Phe Jarchine dashed out the Crirondists
with thn help of sars—owbot tes

k The Jacobins were in iEague with the
Frereh CMTRY

r The Arrest for  anbi-revolutionary
Bclivilies was by law restricted to the
;n’.-:ll'.n.-'.q.' [+ %+ ]

id] The Reign of Terror came to an end with

i execnim

ol

winlbeotine in July 1704

Bobespierre by

Whe ameng the llowing wus the first Indian

Lo qualify for the Indisn Civil Servies 7
Satyendranath Tagors
Surendranath Barni-rps

le] BC. Dhuatt

Bubhas Chandra Boss




